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PROBLEM:
The following IIR filter is specified by its system function:
x[n] 1 y[n]
—> IRFILTER: H(2 = i AR

(a) Determine the impulse response: give your answer as a m of h[n] vs. n.
h[n]

Plot zero values a'so
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(b) Use the z-transform method to determine a ‘ simple formula | for the output when the input is x[n] =
—28[n] + (%)”u[n]. Make a plot of y[n] versus n for the range —1 < n < 4.
y[n]

| Plot zero values also
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(b) Use the z-transform method! to determine a lsimple formulal for the output when the input
is z[n] = —26[n] + (3)"u[n]. Make a plot of y[n] versus n for the range —1 < n < 4.

y[n]
IPlot zero values also]
! 2 3 4
& g _g _? 1 =1 __-L‘ ':ll ooy ?,'B
Y T S Y
-
-l
X.(E)z -2+ ! - -2.+2T‘+ | -1 +2 ("‘)(1—7_‘)
-3 |- 5! | -4a - Lo
=1
Y(2)= HE@)X(2)= L, &X-ED _ -
-2 |—L 3! I"-’z_—z"

Use a’ufn] e I - -
|-az yinl= —(z) ul]

McClellan, Schafer, and Y oder, Sgnal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.



